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FRS settings for 58Ni beam v.0.3.04.2014
Beam: 600 MeV/u 58Ni. Energy before the primary target: 599.65 MeV/u
For calibration S2 slits open and $4 slits [-35,35]mm
start S426_23 (86Kr beam 24.03.2014)

L/Effective thickness of Sc21 =2.975mm (24.03.2014)
If we are in range of the MUSIC here we will be ok for the run.

No primary Target. SEETRAM in
' No S1 degrader, no S2 degrader, SC21: 2.975mm

Bp,,=8.3871 Tm Bp,;=8.148 Tm
f;,=0.7850519
Tof (SC21-SC41) = 159.673 ns
AE: SC21=621.84 MeV SC41= 648.307 MeV Finger=210.531 MeV
TPC21=29.174 MeV TPC22=29.251 MeV
TPC41=29.367 MeV TPC42=29.986 MeV
Music1=107.536 MeV Music2= 108.055 MeV
Ta DSSD = 126.933 MeV wallDSSD = 130.485 MeV wallCsl = 28171.682 MeV
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V/ti. Effective thickness of S2 degrader 5.7g/cm2:

e No primary Target. SEETRAM in
No S1 degrader, S2 degrader: 5.7g/cm? SC21 in (2.975 mm).

@

e effective thickness of S2 degrader 5735mg/cm? (Calibrated: 28.09.2012 see page: 211)
e offset: +35mg/em™ —~ AZA L 7

Bp,, = 8.3871 Tm Bps, = 6.5488 Tm

B, =0.7136026

Tol (SC21-5C41) = 175,663 ns

VAT

AE: SC21=621.84 MeV SC41=775.355 MeV Finger= 244.282 MeV
TPC21=33.658 MeV TPC22=33.84 MeV
TPC41=34.111 MeV TPC42=35.789 MeV
Music = 125.245 MeV Music2= 126.72 MeV

TaDSSD = 153.921 MeV wallDSSD = 165.319 MeV wall Csl = 17049.834 MeV




{
5, Effective thickness of S2 degrader. 6.8g/cm:

1% e No primary Target. SEETRAM in
e No S1 degrader, 52 degrader: 6.8g/cm?, SC21 in (2.975 mm).

e offset: +35mglem2  — 470 Lo )
Bp,=8.3871 Tm  Bp;,=6.1821Tm /7"
Bsy=0.693129
Tof (SC21-SC41) = 180.851 ns
AE: SC21=621.84 MeV SC41=821.647 MeV Finger= 255.655 MeV
TPC21=35.175 MeV TPC22=35.412 MeV
TPC41=35.757 MeV TPC42=137.964 MeV
Musicl=131.481 MeV Music2= 133.394 MeV

TaDSSD = 164.456 MeV  wall DSSD = 180.842 MeV wall Csl = 14482.334 MeV

ﬁ. Effective thickness of S2 degrader 8g/cm2:

e No primary Target. SEETRAM in
e No S1 degrader, S2 degrader; 8g/cm’, SC21 in (2.975 mm).
e offset: +35mgfem2 — J4 Lo 9 /e

Bp,=8.3871 Tm  Bpy, =5.7449 T~

By, = 0.6663192

Tol (SC21-5C41) = [88.128 ns

AE: SC21=621.84 MeV SC41=273.797 MeV Finger=271.754 MeV
TPC21=37.364 MeV TPC22=37.682 MeV
TPC41=38.160 MeV TPC42= 41.330 MeV
Musicl= 140.503 MeV Music2= 143,184 MeV
TaDSSD = 181.32 MeV wall DSSD =208.613 MeV wall Csl = 11341.335 MeV

/7. Effective thickness of Ta #35.: Go only to S2. Effective thickness = 2505 mg/em?®

e Primary Target: #35 — Be 2511 mg/em?
e No S1 degrader, no S2 degrader, SC21 in (3.1 mm).
Bpl2:7.7401 Tm

%/g Effective thickness of S1 degrader: Go only to 52
Already calibrated. just a check
e No primary Target. SEETRAM in
e S1 degrader: 2g/cm?, no 52 degrader, SC21 in (2.975 mm).
e offset: 75 mg/em?
Bpr==83871-T Bp, = 7.8837 ™ Bps, = 7.6286 Tm
Bys= (}.7’646673“:’\=

4.

"‘



Tot (SC21-8C41) = 163.932 ns
AE: SC21=646.627 MeV
TPC21=30.341 MeV
TPC41=30.574 MeV
Musicl=112.027 MeV
Ta DSSD =133.415 MeV

9, Isomer run of “Ti:
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SC41=679.803 MeV
TPC22=30.422 MeV
TPC42=31.412 MeV
Music2= 112.754 MeV
wallDSSD = [38.368 MeV

Finger=219.297 MeV

wallCsl = 24543.568 MeV
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e Primary Target; #35 — Be 2511 mg/cm® nominal, 2505 mg/cm?2 effective
e S1 degrader: 2 g/cm® nominal
e S2degrader: 5.7 g/cm® nominal.

angle: 0 mrad (LISE++)

e 5S4 degraderfaZ.SS g/em2 Take in acount the offset
range in PVC-3i2-mm (after target DSSD)

g’“‘; [htiat
need to recalulate.

Bp, =7.3217 Tm Bp,=
[334=06478384

6.8962 Tm

Bp;, =5.1609 Tm

Fof (SC21-SC41) = 193.499 ns

AE: SC21=418.45 MeV
TPC21=24.4 MeV
TPC41=24.545 MeV
Musicl= 90.441 MeV

Ta DSSD = 197.592 MeV

CsIWall = 0 MeV
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10 Production of “Ti V.o p

e Primary Target (Target 2): #35 — Be 251 | mg/em? 110m§nal
o S degrader;2 g/cm’ nominal = 2042
'em” nominal.

e S2 degrader:

SC41=574.491 MeV
TPC22=24.249 MeV
TPC42=26.564 MeV
Music2= 92.148 MeV
WallDSSD = 0 MeV

Finger=175.316 MeV
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___g#Achromatic angle: -12.94 (LISE++) We are using this one.gg??;féﬂ“
Monoenergetic angle: -18.19 (LISE++) =

Bp, = 7.8588 Tm B

f _.'--sllu‘§’ '8

Tof (SC21-SC41) =206.133 ns

AE: SC21=415.814 MeV
TPC21= 26.564 MeV

p, = 7.4360 Tm

SC41=655.726 MeV
TPC22=26.842 MeV

Bp,, = 4.9724 Tm

Finger= 193.697 MeV



TPC41=27.283 MeV TPC42=30.471 MeV
Music1= 100.861 MeV ;> Music2=103.487 MeV

TaDSSD =136.546 MeV_é; WallDSSD = 170.662 MeV ~ CsIWall = 5802.655 MeV

Rates: S1 slits: +/- 18, S2 slits +/- 40. S2 rate = 9.2x10°
S3 slits open, S4 slits +/- 35, 54 rate = 3.6x10°

With 1e8 pps, S1 slits open, S2 slits open rate is 3.3e6 Pps.
with open slits at S4, rate is 3.7e4 pps

11. Production of ¥Cr P SPEC- AGATA - jSi 0 Wlv f“‘”}; . '{{]j?

e Primary Target (Target 2): #35 — Be 2511 mg/’cm\‘2 nominal.
e S1 degrader:2 g/cm® nominal 2
e S2 degrader: 5.7 g/lemnominal.
Achromatic angle: -9.92 (LISE++) We are using this one.
Monoenergetic angle: -16.06 (LISE++)
Bp, =7.1603 Tm Bp, =6.6917 Tm Bpy, =4.6943 Tm
By = 0.6193156
Tof (8C21-8C41) = 202.409 ns

AE: SC21=503.084 MeV SC41= 763.569 MeV Finger=223.185 MeV
TPC21=30.666 MeV TPC22=131.003 MeV
TPC41=31.6 MeV TPC42=35.645 MeV
Musicl= 116.781 MeV Music2= 120.102 MeV

TaDSSD =161.099 MeV WallDSSD =212.016 MeV  CslWall = 5420.202 MeV

Rates: S1 slits: open, S2 slits open, 52 rate = 1.2x10°%
$3 slits open, S4 slits +/- 35. 84 rate = 1.9x10’

With 1e8 pps,
with open slits at S4, rate is 9.4el pps

12. Production of *V Qg TeSPEC AGATA [L;( Zodq _ Q‘b V_ox h/u'/\Ji . y{f p

e Primary Target (Target 2): #35 — Be 2511 mg/em® nominal.
S1 degradert 2 g/cm*nominal

$2 degrader? 6.8 g/cmhominal.

Achromatic angle: -11.62 (LISE++) We are using this one. 4
Monoenergetic angle: <19.16 (LISE++) 1<
Bp, = 7.4949 Tm Bp, =7.0495 Tm Bpy, =4.8167 Tm
B = 0.6129545

Tof (SC21-SC41) =204.957 ns

AE: SC21=459.409 MeV SC41="714.661 MeV Finger=209.365 MeV
TPC21=28.741 MeV TPC22=29.059 MeV
TPC41=29.604 MeV TPC42=33.3 MeV

Musicl= 109.356 MeV Music2= 112.396 MeV



TaDSSD =150.184 MeV WallDSSD = 194.528 MeV
Rates: S1 slits: -50 30, S2 slits open. S2 rate = 8.6x10°
S3 slits open, S4 slits +/- 35. S4 rate = 7.9x10°

With 1e8 pps, S1 slits open, S2 slits open rate is 1.4e6 pps.
with open slits at S4, rate is 1.3e4 pps

Main contaminants 57Ni, 56Co are at +S1 (LISE++)

CsIWall = 5439.858 MeV



